730A

.

s A

> 730

&
&

&

A

N O P L LA P S P A L B A B

B
%

IYaaly

&t
iy

’V‘ oy o 20! CSlee 39 73! UKL HT0

aVv'd (o) gne pla!

Al el (5 ) senr
S35 3 Dl pgle W jljg
S el i plejle

(

(1Y+V) oS = Lol acgoe )

L 4SS YOO & g of ks Do

L VYA 2l Sl

SVl 5 5les g lani o Slowial Slge olgas

Slas U | Syled 51 | Jlaww olans sl dlge s,
Y. \ Y. () (ot g ogas 0l | )
4i i Vi 729 Bowyle Jle (8l pele Gl (Te))gages (3L,) b (gy0 ;

(Jio! Glaa 5 gous JlUl Gl o (3 U1 Gl Jas
ra P¥ Fe () a3 5 9 (Y 9)) 5 puStigad (Y ) 3U 5 sl (Y g)) Jleis!) pamnass gy | ¥

NOWWWE I E VR PRE LN PRI

218 e 550 9031 (!

Dphgn 8 A e il i b g alga jlone e sl 3 9 Ll Py § AR ottt aled gl (09T S 2 0 (g R 1) Py 0 S S g 5 s 3

AN

A

&

&

AR VW AN | R0 R0 o 0 0 o %

A




Y axio 730A (YY) o5 = Ll AL gox0

ol (9031 dads 10 Lol jgua pus & s (b3 Jeuo Ol jade 1o Las! g Glakie 730 pos (ool )5 Llbogls

Y PUCRENCYPRN P 2R PN L g 1 [ I PR — el § el b i il
9 £ Vg a3 g aolzewl YU iauds> 45 5959 Oyl VL ) Zude dgld 5,ld L) 395 Juso
wloige a1 placbizeuly (ol 9 VMg 43 335 (595 b 0l 3 J S 05

 (goadl) (g g gogos HUj

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

I- I would like to compliment Jaden for the course of action he recommended because |
think it will ----—----- our problem once and for all.
1) sequence 2) speculate 3) signify 4) settle

2-  An e is often expressed as a simile, as in “The football game was like a battle
between gladiators.”
1) endeavor 2) invasion 3) analogy 4) arena

3- Do you know of an alternate route we could take to -- --- having to drive through
the city?
1) circumvent 2) delight in 3) partake of 4) suggest

4- My political science professor presents her lectures in a relaxed manner using -------eeeu-
rather than elaborate language.
1) loquacious 2) colloquial 3) literary 4) inflated

5- My uncle, a farmer, is an --—--——-- pessimist when he discusses the weather. For
example, if the sun is shining, he’s sure a drought is beginning; if it's raining, he’s sure
his crops will be washed away.
1) initial 2) instant 3) immutable 4) interactive

6- The pharmaceutical company had to --—- its advertising claim regarding the
healing power of its new arthritis medicine because research studies clearly indicate the
medicine isn’t effective.

1) repudiate 2) enhance 3) distribute 4) replicate

7-  It's an ---—--—-——- to their friends as to why the couple broke up because they seem
perfect for each other.
1) interference 2) inference 3) alteration 4) enigma

8- Mr. Baker has decided to move to a big city because of a —-ceeeeeee of employment

opportunities in his small hometown.
1) demonstration 2) foundation 3) trace 4) dearth
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9-  There are many good reasons for not smoking, but those having to do with health are

the most %
1) passionate 2) cogent 3) paradoxical 4) accidental
10- -——--—-—- therapy is a psychological approach designed to help individuals change
harmful thought patterns to more constructive ones.
1) Inherent 2) Thoughtful 3) Cognitive 4) Epidemiological

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The earliest human artifacts showing evidence of workmanship with an artistic
purpose (11) ==-eemeemen the subject of some debate. It is clear that such workmanship
existed some 40,000 years ago in the Upper Paleolithic era, (12) -==-==nmv-- it is quite
possible that it began earlier. In September 2018, scientists (13) ------renmm- the
discovery of (14) —==eemmeeeen by Homo sapiens, which is estimated to be 73.000 years
old. much earlier than the 43.000-year-old artifacts (15) --=--=------ to be the earliest
known modern human drawings found previously.

11- 1)are 2)is 3) has been 4) was
12- 1)as 2) when 3) since 4) although
13- 1) who reported 2) reported 3) having reported  4) to report
14- 1) known drawing the earliest 2) the earliest drawing was known
3) the earliest known drawing 4) known as the earliest drawing
15- 1) that understand 2) understood
3) were understood 4) they are understood

| PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

When someone discovers that you are writing a textbook, one (or both) of two
questions will be asked. The first is "Why are you writing a book?" and the second is
"How is your book different from what's out there?" The first question is fairly easy
to answer. You are writing a book because you are not entirely satisfied with the
available texts. The second question is harder to answer. The answer can't be put in a
few sentences so, in order not to bore your audience (who may be asking the question
only out of politeness). you try to say something quick and witty. It usually doesn't
work.

The purpose of this book is to build theoretical statistics (as different from
mathematical statistics) from the first principles of probability theory. Logical
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22-

development, proofs, ideas. themes, etc., evolve through statistical arguments. Thus,
starting from the basics of probability. we develop the theory of statistical inference
using techniques, definitions, and concepts that are statistical and are natural
extensions and consequences of previous concepts. When this endeavor was started.
we were not sure how well it would work. The final judgment of our success is, of
course, left to the reader.

How many questions will be asked?

1) A few 2) Two 3) only one 4) None
The first question i§ -—----=uuux,

1) vague 2) hard 3) important 4) almost easy
The second question is :

1) harder 2) impolit 3) logical 4) natural
To develop statistics, we start from -——-----—-,

1) algebra 2) basics of probability

3) data 4) numbers

The final judgment is left to the —--=--=enmv,

1) student 2) reader 3) college 4) teacher
PASSAGE 2:

The subject of probability theory is the foundation upon which all of statistics is built,
providing a means for modeling populations, experiments, or almost anything else that
could be considered a random phenomenon. Through these models, statisticians are
able to draw inferences about populations, inferences based on examination of only a
part of the whole.

The theory of probability has a long and rich history, dating back at least to the
seventeenth century when. at the request of their friend. the Chevalier de Méré, Pascal

and Fermat developed a mathematical formulation of gambling odds.

What is the foundation of statistics?

1) Probability 2) Algebra 3) Analysis 4) Data
By modeling populations, statistics is able to —-----—--—,

1) direct 2) solve problems

3) draw inferenceS 4) make life easy
The history of probability goes back to the ———--—-—-,

1) 12th century 2) 14th century

3) 17th century 4) 15th century

Who developed a foundation for gambling?

1) Fisher 2) Pascal alone

3) Fermat alone 4) Pascal and Fermat
Who was the Chevalier de Méré?

1) Pearson's friend 2) Fisher's friend

3) Pascal's friend 4) Wald's friend



0 axiwo 730A (17+¥) 05 = slol acgomxe

PASSAGE 3:

When an experiment is performed, the realization of the experiment is an outcome in
the sample space. If the experiment is performed a number of times. different
outcomes may occur each time or some outcomes may repeat. This "frequency of
occurrence” of an outcome can be thought of as a probability. More probable
outcomes occur more frequently. If the outcomes of an experiment can be described
probabilistically, we are on our way to analyzing the experiment statistically.

In this section we describe some of the basics of probability theory. We do not
define probabilities in terms of frequencies but instead take the mathematically simpler
axiomatic approach. As will be seen, the axiomatic approach is not concerned with the
interpretations of probabilities. but is concerned only that the probabilities are defined
by a function satisfving the axioms. Interpretations of the probabilities are quite
another matter. The "frequency of occurrence” of an event is one example of a
particular interpretation of probability. Another possible interpretation is a subjective
one. where rather than thinking of probability as frequency. we can think of it as a
belief in the chance of an event occurring.

26- The result of an experiment is a(n) -—----—--,

1) success 2) failure 3) outcome 4) sample space
27- The relative frequency of an outcome can be thought as --—----—--,

1) data 2) probability

3) a small number 4) a large number
28- A simple approach to defining probability is o

1) events 2) belief 3) frequency 4) axioms
29-  The axiomatic method of probability is used for

1) proving 2) interpreting 3) counting 4) explaining
30- Subjective probability can be thought as --—-

1) belief 2) chance 3) statistics 4) frequency

o by T (ilaw o aF 5 Uy pilo (oo (oSl pole (o (T5)) cogas (BL)) b g)0
f (Jois! Gl 5 s0us 3 JUT

. X . B A e S
(¥ =-1) few! plas (\+smz+|cosz)°+|(\+smz—|cosz)° HJade -YY

o (\
—1 (Y
(Y
\ (F



¥ axivo 730A (1Y) o = ol asgomo

ol plaS lim l§¢(n~n-\)(n+r)...(rn) Jlade —YY
n—oo N

o ()
— (Y
C

V(Y

\
— (f
(<

@® «©
il sy Zk(ak —Ag4y) G sl plaS a1 Sen Zan G gl () Ulisuis (28 -TY
k=) n=\

ol 1,K0n ()
s oS Logl g el 1955 o (352 Egama Alls (¥
o | Ko Lag3) g ol Japl S o1 352 ggacma allss (F
S g ans Ko 13 08 a Jun jio & ] gagae Al Loyl (F
(! oo 53> ow[.]  RTOW FOWIRS 34 —-)R;f(x)=sin(1t(x-[x])) &L oylhy0 a3 plas -YF
o ol J, St Lallas €V
s g (Y
aad pdyFiitin (g wlansl gy (¥
]y a2l (F
Y+ ax

v ae Vg
QC.«.)'P'AS a+b )L\io o1 .:Im—;(e "x—rbx')zo ;‘ -Ya
¥ X

ZNAN
o (Y
Y (Y
Y (f
xe'

\
ol Pl.\.fj mdx ke -YP
(X
C
=iy
v
c
—+) (¥
Y

C
—+\ (7
v

C
——\ (F
Y



Y axiwo 730A (1Y) o = ol asgomo

Foam! plas’ [—b,b] bpy= acosh(f-) &l e Jab olST il cude Slaslab 51 Y'Y
a
L b
vbsinh(—) (v yacosh(—) (
a a
b L
vbcosh(—) (f vasinh(—) (v
a a
9 fi(0,)) =) . f(0,) =0 il aillo g diwgw Jol i po Jio Gliidn b U f:RT R ass 5,8 -TA

o f(Ft,eh)
¢l plas” lim —
t—o f(sinYt,cosYt)

)'.Lio -fy(og‘) =Y

o ()
Y (Y
Y(r
Y (F
‘r"'yr
Sl alis nye Y dxdy laie.D = {(x.y)e RY|x"<y<vm",y <x< ry'} A b -TA
D

— (Y
c
— (Y
£

i Al 3 Rl y o> 30 Z=YH) dniwo o X' 4y =) Wlgian] I it Juad C oS o8 -Fe
Foaw! plas’ ¢ (Fzdx — Yxdy + Yxdz)
C

fr ()

—vJym (v

—fn (¥

Y\f;n (f
Sl pjoylys Jole oyl plas . PCN uss 58 -F)
nEP:)Bp(pePApS\/;Apln)
Vp(pe PvﬁSpvp{n):neP (\
Vp(peP/\pS\/H:pfn):'meP (¥
Vp(pePAstSp/\p’(n):neP (x
Vp(pePAps\/;vp)(n)::meP (f



A axivo 730A (17+¥) 05 = slol acgomxe

Do g0 0318 Sulai A @ y)liie bolli g X @ JHU50 Qo .aidl olg)d dcgemo 90 B 9 A w5 58
Sl Can 3 4 3 AT ol X 9 e Y JoKo D30 0 X\ Y Giand
(AxB)\(BxA)=(A\B)x(B\A) ¢

(AAB)x(AAB) =(AxA)A(BxB) (v

(A\B)x(A\B)=(AxA)\(BxB) (r

(ANB)x(ANB)=(AxA)N(BxB) (f

foal Sy 8155 plas . ail ALl slacgaxe X g Lo dlusl dcgomms Q ais 2,8

sl SoanS F ol sl Loy, F: X2 X 3100

ol Loy £ o] ol Sanss F: XX s1(Y

2,15 3924 f:X—)'Q asle Ligs ol (7

3,15 3929 1 X 2Q asle Sansy aili (F

Bl slacgemay; LA pogouspd pgpto s A<B 3B gA ogponcpd pspdo s A= B s (28
Sl Cawyd oyliF plas (C=D g A =B JSlodlioaces A jl slacsexop;gp LB Jg all

AUC=BUD (v B<D Sha, SIA<C (

AxB=CxD (f ANC=BND (r

ol S yd ady 3 plas . aldl (aluel ) Blael Jdololacly 9B . O ais o8

ol <B’ &la<p s (aB)7=aBY (\
a+y=p+y Kla<Pf<y S (F A+y<B+y Jla<P si(r

Fmanl o 30 LT e 53 0313 5 Sl 135 51 Suplas Al (o po S e B g A uis (5,8
det(AB) =det(BA) ¢

det(I-BA)=c i 5 5 det(I-AB)=¢ (v

el A e ile o3l s AY 5l jskaie o] 0 a5 det(A + B') = det(A' + B) (¢

ol B s ile Gl adj(B) ;) jelase o1 o a5 det(adj(B)) = det(B) (¥

a5 5l Suplas ©jg0 ol 0 ImT=ker T a5 9k & adly s Sloe O T:V oV wis (558
Sl g wilgiga V oy 390 53

dimV =4 (f dimV=¢ (v dimV=2 (v dimV =\

sker f 5100l s b o ,8: Vo F ulb F glase 59,10 il )by slad O V a6 9
b ol plp KerfKerg sm o a0 ol 30 il 5,500 dcgome p j S pua ker g

Yo (f q (¥ A(Y Sio ()

1 ol il AT =1 a5 g 00 & A € My(R) o yile Slasi

ol (F Y (v ) (Y o ()

~FY

fY

~F¥

-¥Fo

-5

-fv

-fA

-F4



4 axiwo 730A (17+¥) 05 = slol acgomxe

¢l plas det (I + XX') jlads X = Y POLL S g 3
-r-
Y (O
—YA (Y
=y (¥
A (F

Tl Cans yo 4y 35 IS Al A Jliw 9 3930 wiy 4 ALA° 3 ALBCR 51 -0)
(AUB) cA"UB" (¥ A'NB c(ANB) (
(A\B)=A\B (f ANBcANB (v
Sl P i s 15 QA (g oty IR 5 2V shasy J1, K51 ke —BY
sinx xeQnNle ,lt-]
f(x)= ¥
cosx xeQNle .%I
VY
Y=Y 51 (Y
Vg ViV
Y=V VY
g byl plas —0<a<h<0 g Wbl ColeSs wwg iy T,g:(a,b) >R ol o8 -0Y
S oo wlow! 1, fg Csleiss
—.—w<a<b<w (\
Siis s g o F g (Y
el 2lZa 539250 D g8 0 F &b 2o (Y

A EH gy divgsy (F+2)T 987 o £ aulyi (F

®© ln(\+1) © \
?m!w,aQ;pIJ.B=ZTn i A=Zarcsin(;) au3S pyh =OF
n=\ n=\

s 55 B g A 55w 99 2 (0
ien [ Kan B g A (50 90 0 (Y
el S13 B gy g | Sen A 5 (F
il Sy A s g 1508 B (g5 (F



Ve axiuo 730A (1Y) o = ol asgomo

F'(x) <o <f"(X) X <o 1o 5l a5 obas 3,15 290 & po Fiine yiuoli dlaii o 0 1R 5 R uis o, -00

§ ! Gy dly ¥ plas . (X) > 0> F(X) X D0 ;0 5lps

s s Bilee o )3 fQ

S(e) <o g ol pdy it yio o f (Y

F(O) =0 sl plaiiie yio ,0 F(T

£(e) >0 g ol plygite yio o (F

Gl o/ dydyde )XY Gpon hds sus 10 Y (gl 50 00 Jloy yolids ane ol Sy 0
g g0 0y g SN plB )l L i dus Auled ) AT WSS B8 aiid 29090 a3l b d; a5 Sed g0 00l
el Wl o P S0 0s g g el BB Cudo dis (p i Sa oS

-y

YU (F

a lade o1 .f[\.\',\'] =a=) .05 Jaos edls S 19)0 sl oFew 00l pumdli NS gy 4o

?&u‘p‘.&f
X |l=v|y]y |y
i Y R | )
Y (
S
Y
v
Y
\
- (f
Y

L
ol 0 Pl Jeb Llasil pj Job .l Jlaiae s olasT ailei b I:O,?] alolé jo f(x)=cos¥fx R

fadl Yx Va7 b sobus b inS 03l ol 50 raedt (P sl SV 51,5 U Bl jake ST o3b
o’/oob (\

0/00 (41

0/0\ \¥

0,00 \ (f’

-OF

-av

-OA



1) axieo 730A (17+¥) 05 = slol acgomxe

(=min”ATAx—bh Wlas g X* o8] bl s Jihams s siu b MXN o yile Sy A 51 -5
Y

t#c ’;:\...:.JL'LSJ(\
t=o SWLS'!("
t=0 5w LSy (¥
L#o ,@L&i(f

n
Sy 0] Cawdd ymeii U alil plas j f(x)dx = Af(e)+ Bf(m) JI,551 peasi s1p 1) B g A polis
fadl JI,85) auds Glas lan b ga polic des slila .a+DCoSX O )jgod ailei

A=B=n (

B=o,A=m (v

.A=B=£ (¥
Y

.B=1t,A=o (f

3 eSile (e o0 o 21y du 0313 o K2 g 31 e S 50 67 ilylg g B il b ) dus A
Oans] Can 33 3380 pIAS 1 ygocml 53 9d 0 TN 9 M Wan sWesld il ylg

n)p,t'>0"(\’ q<p,t7<o'(\

N>p 91T <o (F N<KH 3T >0 (¥

SaS (8 Nigd 00l ledid b diub duw I (S 50 il oo 45 aiind guilnl U law C 9B g A Hii 4w
A Jleaal ol sy glaiabs 5o 50 add b (o 00l (il g 3945 g0 00y (1,500 I Jhiuae 5,8 40
Tl 1S 09b o3l 55 S lado aiids 5 5

A\
-0

_~ ~~
= =

|- 2|2 4|~ o
-~~~
-

3,8 0,leds b sldld b j0 aSul Jlads! .00 35,00 O U) oo led 0 B,5 0 j0 Bolad w1y SGpenlio e O
S'C.mlp'.&féx:)bio}u&gw
X @
FYD
F
RPN
FYQ
vy
Yya
.1 (f
\Ya

(¥

-7\

Al

Al



1Y axio 730A (17+¥) 05 = slol acgomxe

pd) 90 LU ool 5l olaw Az . 3 a5 10 1) Cawl {)yeeey Q) degamme 3 o] G o) AT g0y slaous -FF
fai )l olase s
ary (\
aYF (Y
AYY (Y
AYY (f

q
! ool o g gl oY Oladd slaw a5 pl | Jleis! .C.u»'\—{ wwild 3L S0 0 el ald sl i PO

fow! plasall o 8 goue axd
\o
\4
\o
A&
q
14
‘4
\&

(¥
4

(¥

() 35y 3 (Tals pSwinai (Tg)) 6l Lol ((Fyl) Jlain) oradii g p0

Camsl pIAS Bl A2 i ady 1T FVZ AV =0 40 a5 50 ol 4yl Jin! . Z ~ N(0,)) uuiS )8 55
(! 3 ylaibiw! Jlo y a0 30 b JSibLai Dfe) )
D) O
\—D(1) (¥
YD) —) (¥
Y(\—=D(V)) (F

tel plas Var(X) ylaie P(| X |<\)=P(|X|>%) g A> ) 4l o as b X~ U(-a,a) uss o8 -FV

v
- ()
f



Y axio 730A (17+¥) 05 = slol acgomxe

Jal ool oud cvalive JB a5 ubl Jlado slaai X uds (28 oS oo WUy b0 1 Qe Wb Cds SO -FA
Sl 1o X 20595 bl pg0 (Wl 31 yidew

i \
Bin(n,—) ¢

YF

s \
Bin(n,—) (v

;

, \

Bm(n,—a) i\

Y7
Bin(n,e) (f

¥

X , 3
fowl plas Y = Ln(-I—B-) &9 bl p Jis! JBs alil JHolai piie o X uls o8 -4

a
f(x):?i‘ ix2B,a>c,B>0
Beta(\,ot) (
Beta(a.\) (v
Pa(a.\) (v
Exp(a) (f

PY =0) jlaze Y =[X]I x5 51080 55 Jia! JBo b b aiwg Hobai juiio X ads (0,8 -V
)
f(X) =;e_"| s X eR (ol t T £ 3> ,S.'blu ltl ) feuw! p'u\.f
e—-Y (O

e—)
—_ (Y

) =)
\——e " (F
Y

39 (Z,0) 9 (a,)) adaiti 90 ryams omavialil alold 30 0L ) duel aU1 5l b Z ~ N(o,)) 0is 29 -Y
Sl plos a Coll jlake all alld 1) Hlado (p i Olaizs axio
-\ ¢\

)'&.a(\'



V¥ axio 730A (17+¥) 05 = slol acgomxe

Sl plaS E[InD(X)] sltio aiiils X gojei o @ 9 X ~ N(o,1) auiS o3 VY
s ()
-\ (¥
\ (T
\
v
Mo sl G(1) ="V Jlazol Wge a ylo il games Koo polio b X dhun ol juiia ~VY
ol fLAS P(X 2\)

e
e (v
V& (P
\—e ' (¥

olal e Jio! JBo b wll F arend puje b b diugn Holad e G X 0lS o9 -VF

ol plas (2,1) 350 30 Y=F"(X)
\

y —
-y Y ()
Y

"
_yY (‘,
A\

A
yr(r

Yol plas o<y <Y élﬁYM&jf eU’)L\i.o.Y=m8X(°,X) 3 X~ U(=),) WS o8 YO



10 axive 730A (17+¥) 05 = slol acgomxe

SISl yadm 9 S @ S bl & ol dwdaw 0 300 N =R g 30,5 000 R Jold a5 35 510 540 89
Xi=lAi 9 o=l (I=1,7) pli Ll )0 3o 0 yin calodio doliey A; 0l 28 .0uS o0 il

ol plus X‘. 3 X, Ms@ro .(Ai RVLV) ,‘al&a &)

\(\
N

\(v
N

=% 2 X

N -\

R -

N—\(
1X, Xy

Ccanl phaS Efe¥ 1 V] o .ol 8 il Jloyi 2a595 5 obar aiges K Xy Xy auiS 550

k ‘ k_\ - - ~ “ 2 .- . . . . 2
(X )=z+° 3 23S Wao &l (3929 byd b el jl (Bolai diged S X, Xyuus (58
chl "J P(X\ +xv =\) )‘-& .\.h:)b_ ck = ‘Qvgc.o

4
Yo
A
Yo

-v#

A

-YA



\F axivo 730A (17+¥) 05 = slol acgomxe

e .adl P(X, =1)=1=P(X, =) =1=P b,d b ujy | obai digai S5 Xypeurs Xyo i 8 -Y4
‘o
¢ ansl plas P(in > 1)
i=)
PO
—p" (v
(\-p)" (r
\=-(-p)" (¢
1. aob U(o,) a0 3 Bol—ai daigai S X, Xy Xy a5 o3 -A-

(ol L5 6 5Kk 1) Sl pla$’ Var(Y) shaia.Y = (X, z%)n(x, z%)n(x, z%)

\

— 0\

f
\Y
— (Y
Y
LI
\Ff
Yy
—— (f
\Y

Jhso! il 5 Jis! JE> &l b aije ob 9 Jikuwe Sobai sl yaiio Xy Xyyees XpauiS 28 —A)
X+ .
f()=——-1<x<) ] plaS Wil 5385 Hho 51 sudliue sl Linis 4y

RAN
foas
AP
— (Y
Yo¥fA
YT
Yo FA
YA
o5
A= el b olgy oF pidie auser S 9 Jiius Gholai (oo puiis 3 LIS Xy Xypoeo aniS (9sb —AY
N
e ypolia 45 5 sabds il 1 X 51 Jhzane GBoka 5 5ai20 N T 30 45 Sy =in asd3 5158 .aidly
i=)
! plas Var(SN),!.\a.. UL PP\ FET 2 g L
Var(N)+ E(N) ¢
Var(N)+ E(N") (v
Var(N)+E"(N)

Var(N)+YE(N) (f



WY axio 730A (1Y) o = ol asgomo

Sl plas ,,IET,,PIX" =o] ,luie . P[X, =0]|=P[X, =] 3 X, ~Bin(n,p,) a5 o5,
& QO

-\
e (v

~¥

S ('f-
S1aaitt UY) ol @59 b 259500 9 Jitas olai sl yaico 51 s Sy Xy Xyyerr 9 (553

n

R

ful plas € ke H, —2 ¢ o H, =(;in o
i=\

—InY (

Iny (v

Y
Y
Iny

\
Iny

S Jlomiono s ojlel Lol 15 Joio! (B2 @l b ouii 5 (Holad wigas S Xy Xy 0 (53

0
fo(x)=————%,Xx>0,0>0 fowl plus 0 el b
¢ (\+1()"\e ?

_AY

—-A¥

-AD



YA axdo

730A (1Y) o = ol asgomo

Bl ) Jleio! MKz a4 b o535 5| (Aol Wiges Ky Xy X 08 28 —AF

fo, 00 (V)=

L(e‘ + 97 )_\ exp {el} X<eo

((9, +6,)” exp{—él} X>o

\ 2
ei >°"="Y

Y

(ol LS &Ul 3 yelaie) Yowwl plas (9\,9‘0 Gy S suiens o)lni

n
in 0\
i=\
n n
[inl(xi >2), Y Xil(X; <) | (¢
=\ i=\
n n )
[fol(xi >0), ) X{I(X; <o) | (v
=\ 1=\ /

n n
[}:c"il(xi <o), > eMIX;>0) | f
i=\ i=\ /

2 0
ol 0 lal Lalb T el U plai zae0 s X g Jiius olai b puiio Xyyeney X wiS 2,9

el plas O gl Jols

-AY



14 axio 730A (1Y) o = ol asgomo

)l 0 yal r X Al bl adl ) Jia! 2l U or 598 3l dind Folai i o X wS 8 -AA

O ans! pIAS € yho
q Xx=)
l'p(x)={p,q,‘_r x=1’,\",...(q=‘_p)
h(x)=-h(\)(x=Y)
o X=X
h(x)z{—h(\)x =YX "

h(x)=h(\x-Y) (v
h(x)=h(\)x (f

0 yial)y (5 59lad 8,9y bl o Jlaio! Ko aoli b 395 5 oL g Sy Xypuny Xy 4S8 -AQ
fow! p!.\S

Y

Y X
f =—exXpy—m—m—¢ 20 , B>0
p(x) neeW{ ne‘.} X

\ n

n<
1=\

\ n
L3«
nm<

1=\
n

\

1S

n<

1=\

n
Y
— ) x{ (F

e i=)

Al % ol b olei @uiel g Xl Jinee Yy 0 0afile b ol @ sl X ais (08 -4

(8> 0) oul plas O yialyb (MLE) o leiius j3 pos ko 153,91

—~
-

_
-

~
-

T <5 3¢ | < < ¢
3



Yo axio 730A (17+¥) 05 = slol acgomxe

ol sl wluly alb p) Jlas! JBe &l b ouiei )l PHolad diged SO Xypony Xy oS (2,9
cal p1a5 07 ol UMVU 0,91 diges

Y
¥ X
fo(x)=—expi——=¢ , xX2c¢ , 0>0
70 70"
P n
Y
— X; (O
n#<
1=\
n
nm
—» x{ («x
k.
1=\
n n
— ) x; (v
Y 4
1=\
n
Y
— ) x{ (¢
nm

-4y

Soylp il g Jisl JE> abi U T(0,) aje 3 odolad wgei 5 Xypewos Xy auiS 5,3 -

Sl plas a” il 1 UMVU

fa(x)=$x“4e_‘ , X>o0 , >0
X
n n
l_lxi (\
=\
n
nxi (¥
i=)
\ n
nzx' i



Y axio 730A (17+¥) 05 = slol acgomxe

Py = 008 omb ol A p; Jio! JBs &l b on e 5l (Holal diges S Xyyueey Xy aiS (5,8 AT

\
towt plas’ y(0) = s2alile watsfl 5521910 oy

Y

0 —0x
f, = —
p(x) H_e(\+)&)c

sy X>0 ,0>0

e"
(Y
n

0"(1+0)
n(0" +¥0+v)
(\+0)
n(0" +¥0+v)
(1+0)"
no" (0" +¥0 +Y)
i pa Xy 3 X(y) 928b (0,0) dlold g9) oo lpass aj90 3l (Polal wiged S Xyyuey Xy 0 (2,9

(v

(f

Scant oS E(X(y) | Xny) ko okl aigas o2l g 53 53001 (255 334 9 00535 o5

nX
(n) R
n+\

[ RPN 1 Y S NS ——- i — N(©,)) 3! PP 1| I FU— P Y x‘,x‘- A S P 3
Sl plas (min{X, , X}, max{X,,X,})

~~ _ o~
e ~ -

|- #|t 8|— > |-
-
R

-¥

-4



YY axio 730A (YY) o5 = bl ac goxo

$lp =00 ojlail 9ol i Fole p o305l QU ABL g Jlazol @l gl X (ol puiio auS (23 -4F

¥ Y
Sal plas Hy 0=yl 0 H 10 =2 (558 9o

X \ Y v \
—<0<)
fo(x) | v—0 |v—0 | Yoy ([ Y

\ X=1
\ \ X=X
P(x)=14- X=Y (¥ d(x) = O
Y 0 X=)Y
o X=Y
\ X=Y
\ X =X \
o(x) = (f o(x) =4~ X =¥
o 2\ Y
0 x:\

2l ) G (9031 B9y 41 903l @l abl ) Jleiol &b b dend Bolai paiio O X wis (23 -4V
‘.'C—«d‘p'df (X=0/\ ehu)é H\:9=0\ .J.gu.o)é H°:9=9° g,nji,_g',_n

. Xy | Xy | X¢

feo(X) = o) oY | o)Y

fe‘(l) ool | ool | o)A | o))

\ \ X=2%;
= X=X.o% 3
d(x)=1v SR d(x)=<— X=X, Q
° X = Xyo X¢ ¥
° X = Xy, Xy
\ X =X, \ X=X,
\ \
d(x)= 3 X=X, (f o(x)= 3 X=Xy (¥

°
7~
Il
b

-
b
-
o
-~
Il
P
-
i
-



YY axio 730A (17+¥) 05 = slol acgomxe

S (R,eR) o3b e(>) Hlaie az slil & bl U(0,0) auje 3l olai aigai S X, , Xy S o8 -4
fal digad 3« R 1 0 45 cal B (51 2oy Yoo (V= 01) yliseb! alold
\—Vi—-a

o

Q\

\+4\—-
—_— (Y
o

—

\—-a

Vo

\ -

~

(f

SO g bl gL (e (U9 (Holal Wiged S il dies (T 0300 O AT 0500 & Jold slams 51 -49
Wil X2¢ wygoas Hi10=Y Llio ;0 H, :0=) 590l g1y 0, 4ol 51 005 o0 cunlie dniuw oy
Sl plaS g3 (P-value) jlade o «uwl diges 35 duduw 50 oo Sloni X o] jo a8
o/F ()
o/ f (Y
08 (¥
o/% (F
Cod 3 4 0903l 9) Al adl ) Jlis! JBs UL iyl coalie o X uls 58 e
Sl plas 0, >0, a5 Hy:0=0, Jlio 0 H :0=0, 5,5 9051 !y olodinw)o
fg(x)=Y0x+(1-0),o<x<), Be(-),))
X<c¢ ()
X>C (Y
X<C L X>Cp (¥
C; <X <Cp (T
P HIYSOSFE 5,8 aejl 0) aal 51000 U(e,0) auj9 3l Holai slauiges Xy y X, oS 2,8 —Ve)
sl plaS (yg03l o3l adl Xy > F L Xy <V/F Ojp0a HitO<Y L 0>F 55 blio
(X(n) = Max(X,,...,X,))
(o))" O
(o/A)" (v
\_(c:;)n R
V—=(o,A)" (F



TF axio 730A (17+¥) 05 = slol acgomxe

P &,oj.‘. Slp =00 mlaw yo O,")'.f ProlY e ole f Jleia! S &b X ssalin &G bl y =\eY
Y Y
¢! plas H,:f(x):; X 0oSX<F Jlie o Hozf(x)=’—fx' , oSX<¥

o (
o0 (Y
o/ (¥
o8 (f
S (9) 4 0gejl 9) el adl pj Jliol 2 U P(O) ase il eslie o6 oG X ais 55 )Y
fowl plos Hy:0#Y Jlio o H 10=Y a3l slp 00 daw )0 olediu o
-0 x

¢
fe(!)= ' . X=°,‘,Y,...,e>°
X

X X
Ye Ye
70" ca ¥ s 4
X X
olal (g T digel b Cad (50> L ool Jolai 58 digei oo w30 N oo & glamels> 0 51 -)\oF
Tl plas diges e 03wl Wl a(<Y) L ol p sl glac! I8 sl o,,iﬁ 20 &N yaw eolw
(\—-a)N+a
(\—a)N-a (v
\—a)N+)
(\—a) o
a
\—a)N-\
(\-a) ¢
a
o2 b oo (Mull g aigal B0 WAL plp ades ex> g slalo o S sladeS 5T aigei o 100
o 45 9D glaigs @ guadiss

g Iy aded g ()
b pals laadys 3ls SausTy, (Y
Bgh S lbadss 3 Kiwad oo (¥



Y0 axio 730A (1Y) o = ol asgomo

GrSdgel ik 50 piY dgel e WAL ¥ iy aly Olpdl cupd ST el Sl slamls -)eF
plaS Wbl 0/ plp anel il ;53,01 p o slas 2510 040 Jlada! b aSST gl sole Solas
(ZOIWO =Y) fcww!
A Q)
\F (Y
rY (v
F¥ (F

gl ol @ euiS 35l 1) syhde Yoo b UL U (b it 5 N800y a0 tawgie padlyS o~
Ologi gakao Do s b il (50500 s (ljae Egee Bgd oo SR Silatans (R9) 4 (5 e
foawl plas JLdel o8, ¥ U SSU o 53 (logi (ygadns s ) (510503 paww (3 3a0 couilan s 51U 3591 0 sl
8007 (A
O/00F (Y
O/00% (F
0008 (F

29 9 Cawl Win)l5 Yooo ghyls a5 poud Ko ONyI01 LS oo 30 € Sl Bo YL 31,81 Sluwin 3,91 o (sl VoA
@y OLIBEGIL F ooyl o (LS, slowr b cwlice JYlaa! b g Bolal & (il 0 )5 alise 5,101 80
390 yialyl gulid ool bl ol 5 Jguar 750 4 LT Glasin o5 mles ¥ Gl (5,la% 0 b 9uds

€39 00 93]y ok i
agas Ol LS olo | Al [ yoo | 5o | Ae
hbiJuao SYU 31,81 olaws o | va 1 | Yo
doo ()
FYS (Y
FYO (Y
voe (F

Sl T uged ah3a Cal 00 OlD 51 S 8 e Lial pg0 4l e (! Al duw Jolb glamal> )4
S )30 S jlima Sl pauil fiaed el J08 Ol I 2 0 e (ol plp e paw dib g
Sl |y Agel e (o il il S (5 pF digal &3 Tl Olab 50 51 G 8 caai gl adeb o
(aidd Ol )0 Waei pxa> Ny g Ny .« Ny) YCuul plas
n,=n, =ny (\

n,
n,=n, ¢ Ny :T &1

n,=n, ¢ Nu =¥N, (¥

n, =Yn, ¢ N, =Yn, (f



Y# axio 730A (1Y+Y) a5 = jlol acgorne

dod i dilie S 0 Jd el Sl Juegil S5 Slani 3 b famagil 5 olain Syslp slp N
sl 0392 95095 Yoo wilodged (5 yfCad g adlain cpl jU slacws ;0 aie Guw b asl) ob ooyl
o009 ),.w)‘: lbo.f Eae Seud Ao .th”n,ﬂ )" ".!U Yooo ‘,.iow & geu < e OU’: &~ )' o™ ;‘
Sl plaS L5390 (W80 yal p . Wilodgei (5 puf Cad g adiie Do lod 13 i LT I YO T pogdle g
A je0i8 L] 51 G\ Yo0 a5 Joegil Acoa ()
22t je)l Lol 515 YYD 0 aF Joegil Aooo (Y
it G 3l Loyl 516 Y000 aF gl Y000 (V
Aid jail8 Loyl 516 FYD 0 a5 Jagil V00O (F

30 daipe 90 oLl @ amels Jol J& pl 0S50 0 0 ¥\ ¥ytut YN polis U N o & glasl> 1))
3900 (pl 38 D9 o0 GBI ez lz 59 I M px> 4 oole SOl diges K ADL 0wl Ll o Lie2
foml plas YN axela (ufilae 5y Wigad Slaaline Jyone (il (o 5!
}i.o (\

Yy _YN

n
Yy —.\_'N
N +3

(Y
s

n
< =¥Nn)
N \ N

390 Caio 51 ¥ L pde Ol B gas (Gl b gous b) N=1Th Lol glassl> j0 ais o8 -Y
ol lg g 00liiw! Cakeo (y3] Cannnd 3331 1 Sl F oo 4 Sedladianw diged S 1 T LGSl gy
S IS o 153591
b
q

Y
- (Y

S ol G L a5 SaS Caduo S 3 ooliiwl b soluw ol (g pSdiges )0 axela Sl 391y sl -NIY
od wWilmeas g Olle ded (ol et Jas bLS )
i a3 Gy S5 535510 <0 ()
i faS digad 5o Sils ) (Sge S ) 55510 B (Y
ol Aigai pe8len 5 5330 0lga o £3,511 OV
)38 e 51 (Ko @ Ghol ho g S daS o el g 5 B0 & (e 50,01 S0 (F



TY axio 730A (1Y) o = ol asgomo

Vooo Jolod el adgommo jubd D9l o0 4y )il ds (2l Voo sbrama ;3 aldy) WY 0l (28

S sigd g0 )il laled o sl g ouds il ama Vo Wgome o CuksS J S jgliteds ol dan>
\e

) Zpi = el Alls 5 Wl ol dnnar 50 il 5 gate glbceY Cond i i w Q5 5 B

i=)
Yo
Tl oIS gano SUbesY o 00l 3591 3 (il 515 991 -ZP iQj =c/°4
i=\
5 ()
00\ (¥
o0 Y (Y
0000 \ (F

HuSy Jlas pll yaie puilas 51N o @ slassl> 510 e & 5101 b oslw Bolai g uFaigai 4o
Coa! plas plk paie ol Ol il il ool ol diges yo

AR DV TOIRY
() N) ( N)

QO
\
(-=)
N
\ Y
(- ﬁ)n -(\- I_\]_)n
\ S
\=-(0-=)"
N
\—(\—l)"“ (r
N
‘' n
(\——)" «f
N -\
390 S ©ygo (pl 0 Wl g0 SBGIY (e By & AU G ) Gl eaile L £ LS
n
Sl 30 Zé' uo,.ui,é
i=\

sl S 0,90 ()

el Bia 0)lg0n (Y

Ll a0 (golue o)lsen (¥

el o plp a3l base 5l o je SIS (g S 45 G ypy (F

-\\¥

-8

AL



YA axio 730A (17+¥) 05 = slol acgomxe

B=o/¥ 9 Sy =78 8] =Fo0 S (b i =Nyuunll 1 Y; =P, +BX; +E 00k s ygmai )T Joo 0 NV
ol plAS Y 9 X (i  Snod Cu pod Sl
o8 ()
oY (Y
0,08 (Y
0, 0% (f
ouds (28 1=V ¥ =B+ B X+ 8 Ojeoa s aluly; SO Y 9 X o alaly g bl adlllae G 0 1A

Sgpsba adl oad Sily TP HBX Cjpen daly ol wise Sl luly ST ol

n n
Tl plaS (1) digad (Somnad o p 5lie 'Z(.Vi -y =Z(.\'i -5
i=) i=)
-1 ()
o (¥
) (Y
Do dels |, T jlade bled cod Sledb! o0l L (F
Wgnd Sy bl cawl oud 23 Vi =B +BX; HE I =Vl Y 9 X o abaly oilol addline S 0 -
Y Slyaaii 3l o0 PF 0ibd oo 3l gul ol ¥ =8+0/VX o Joo iy oU n =N  Holai
Jlia o HoiBy=0 (o5 paesl slp & a3l osbel sladie ©jgoinl 39 sl byl BB X by
fowl plas Hy: By #o
f Q)
—¥f (Y
YY(r
- Y (f
9 o (pSilio b diunenl b € alox o jo a5 ¥; =B, +ByX; + 8,0 = Viyl o0l Jad g )y Juo 1Y

Tl s 3390 AT wiiily sl X pp0lin 451 .0 3080 i 33 1) At GF Sl iy
Sls 5k Gl i By g Bl pes ol (o eS lo 55,50 (Saenar 3550 55 ()

R Ry B\ 3 p pd slaplel fn mal Gl“;°)9]ﬂ (v

i Cato e Py g Bl pgo slaplsi o 2aS (sl )5 510 (F

s cite aiaves By 5 Bl pso slagls o meS sl S0 (F



T4 axie 730A (17+¥) 05 = slol acgomxe

el 1)1 8 dionl aE; Qi Pad=\Y,n . y; = l}li +8&; ool Jas ygaw ) Juo O 0 -ITY
B sl /S0 s oyl 53,01 58 b g s Slwpe Jilas 535010 B 51 aiis 07 ibyly 3 ke

&' =ﬁ2x: o ausl 1SS B 9 by il slggS iy

O'r 0"
—0y — (Y
n nx'

X ¢
i (F —0C (¥
D m Y

X

s Sl 50 el ranK(X) =0 gnxn guyl SO X ol pasly y=XB+e Jas yemw)F) Joo -ITY
Tl plaS (B)B poo Loty il 559
Xy
Xy (v
(XX) 'y (v
X(XX) ' X'y (¥
3 yuo (efiles gLl € Hop g (M>pInxp an s X ol pas ) y=XBte hs famwys) Jao -IYY

ol plas’ i =),...,0 sy uéi owibly Sl ‘rSJL.o BV TN - gt O’Yl ol ylaes i yile
GY
n

Pst v
n

0-2yo" v
n
Y
(\-=)o (f
n
o) PR v K i=VY,YF Yi =B\x\i+ﬂrxﬁ+ﬂrxﬂ+ei B> oeewyS)  Jae y0 81 -AYF

A b I I ¢
fewn! plas (MSE) Uas alos wils ylg o),T,g V= [0,3,-\9"]’ 3 B'-‘, = [_‘;9‘9;9;]

-

S <16 %> & |=

(\

(Y

(¥

(f



Y+ axio 730A (17+¥) 05 = slol acgomxe

wwpo jlaie g Cuwl oul (Bilp Bodls & pi Jas eaw ) Jow caalie n=Y) L gleools Jdai jo0 -1YD
9 FY aadi o o Hlade .ia._.o 2 9 Xy Xy L Jow il b Hizes el Cawdds 0D Cpnnns
ol plas Ho s By =Py =Py =0 (28 0seil sl 0303l oslel jlado .0y )5 drslne
; Y Y
¥i = Bo +Byxjy + Byxiy +Byxiy + BeXiy + BaXiiXiy + &

AT QO
Vo, FY (¥

VE (Y
YA (F



(YY) o = ylol acgame

730A

Y axao

sess | 1os6 | Loss | Loss | 1666 | Lose | coss | Loss | 1sss | coss | ve

1666 | o666 | 9666 | 9666 | 9666 | 9ess | oss | sess | sses | sees | €
§666 | S666 | S666 | v666 | ¥666 | ¥E66 | P66 | pess | (686 | £68s | TE

w666 | 166 | 2666 | 666 | 2666 | zass | 1668 | 1668 | 1666 | o6es | 1€

06ss | 0666 | enes | 6a6s | 6nos | sees | e | caes | csss | coss | 0%

1oes | zevos | s | zeoer | zevst | oscor | esevt | sen oF 9966 | 9856 | SB66 | SRES | Y66 | ¥i66 | €866 | IR66 | T966 | 1866 | 61
secrs | oesser | zzesy | essty | omocur | oo | esew | zre | et oser | wove | vz | esot | et | e 1866 | 0866 | 6066 | 6L66 | RLGE' | LLG6 | LL66 | 9L66 | SL66 | DLEG | 82
6605 | sczer | ooeww [ ccce | czewt | wocst | wsa | o | m ooz | cove | sz | roct | cier | we WG | (166 | 1166 | 11667 | 0L | 6966 | W966 | L966 | 996" | $966' | LT
woer | zosor | owerer [ ocrvor | oseon | omsw | osesn | oen | wee | vt | esoe | coct | mien | P66 | €96 | T966" | 1965 | 0966 | 6566 | LSEE | 9566 | 5566 | E566 | 92
sazey | ooy | czere | sewne | eecst | owa | sen | sen | e s | aeve | osor | soct | s | oz U566 | 1566 | 6966 | BY6S | 9P66° | Sve6 | (066 | T¥66 | O¥GE | R(6h | ST
teeor | oviewr | ooy | zssee | niem | enver | ez | wor | sz et | seve | ooz | soct | srer | sz 966 | MILE | TC66 | 1066 | 6166 | L2665 | ST66 | TT66 | OI66' | BIGE | ¥Z
sssov | ey | voree | siwoe | omewct [ tovzi | oswor | osws | m et | wove | vooz | et | mier | w 66 | C166° | 1166 | 6066 | 9066 | P066 | 1066 | S6B6" | 960" | C6be | €2
80 | seoir | oseone [ ozerse | osoer | weonn | osator | oors | @ x| oosz | 6907 | wiet | sict | &2 0686 | L5306 | VERG' | IERG | RLOK | SIO6 | ILOG | 986" | P90 | 1986 | TT
seczy | eszow | omeor | wzene | weent | zseor | vowss | oes | m eixt | sosz | weot | e | weer | @ LSS6 | 9506 | O6OF° | YEG | TUAE' | SEOE | VERE | OCB | TBE | 1386 | UE
vty | ozesse | mevse | oocoze | owsstn | zzor | wess | con| m teve | wiez [ osoz | e | zet | az LIS6 | L1%6 | S086" | CORS | BAL6 | CAL6 | BULE | M6 | L6 | L6 | O
96660 | ossue | eo1ws | orvre | oswor | cosss | voors | geve | oz swt | szsz | onoz | szen | seen | ot IXE | 196 | 95L6° | OSLE" | WOLE' | BGL6 | TELE | OULE | 6ILK | f1LS | 61
wens | osror [ wswze | evvor | ciror | sooes | czeor | e | e 1ot | eesz | coor | azer | szt | o 90cs | 6696 | teos | omos | w296 | 1096 | voos | 9sos | eros | 1vas | 81
os1Le | soxve | sesic | 69wz [ vosts | coczs | evtoc | wsze | m wwz | zesz | torz | vt | orer | m 5696 | ST96° | 9196 | €096 | 6656 | 1656 | T8SE' | ELSE | V966 | 9556 | L]
sicse | woree | teror | ewser | cuws | wese | wows | wevs | w sarz | o5z | ourz | ooc | exer | i svs6 | suss | szs6 | sise | sose | sers | v | weve | covs | zovs | 91
Lores | eeste | svmsz | 96T | o1osr | ouoeo | tziss | s | 16T | exsT | ozrz | vt | eeet | 9 IPP6" | 6IV6 | BIP6 | SOVE' | PEE6 | TBE6 | OLEE | LSC6 | SHES | ZECE | 51
1o8z¢ | wsor | swver | osesve | eoore | resre | cszzs | oo | st ot | w9t | 1oz | eser | et | s ol ool Bocrdll Rl Bivrdll Biiolll Ecsolll 55l Boolll Bsvill B4
SICIE | 16 | w9z | weoez | socse | esees | vosey | wow | m ust | veoz | oz | 1ot | soct | LLIE | IN6 | 916 | IE16° | 6116 | 6606 | T906' | 9906 | 606' | 2606 | €1
o1wer | seoer | seevz | oworre [ omises | csoos | esoty | sosc | o uoe | os9z | o917 | reen | oser | @ SI06 | LOK | 006K | TO6K | 168 | ST6E | (OGK | SHIE | 6%8F | 68T | T1
est8L | o1zor | ereez | stz [ oozzs | exowr | soesc | woe | @ oot | 19z | eurt | zaet | osct | OIS | OIOW | OKLY | OLLE | 60L¥ | GILE | BOCW | 9898 | $95€° | €48 | 1T
9509 | vuvr | osir | seoet | oweesy | oesige | ovesoc | cosz | sore | wicz | 1ovz | 9ot | eoct | 1t 1T | 666F | LLSE | VSOU' | I6SW | SOCK | sBvi | (998 | BOVE | O | O
sist | eorer | ewvor | cocmt | cover | esre | masst | ssiz| o oort | worz | szee [ omr [ wer | o 0T | S5 | OVCK | SIEE | GBTX | W9LF | BETE | TIZXW | ONIE | @5IY | 60
aoer | soorz | zzoer | smieor | aszee | wocz | ewoz | vt | s oste | 1evz | zore | cesn | cacr | 6 bl o] [l ol B 8l R ol Bl vl (Rl [l R
wsel1z | osoor | wesut | cosst | oszeer | esere | sowr | mer | w ssei | osxz | sorz | osw1 | eoc1 | % ISR | GZRC | WELL | WSLL | DELL | WOLL | ELSLT | TOSL | NISL ) ORSL | LD
uror | sevwt | zioon | oeoow | weorz | wesor | osezy | esso | & sore | nesz | sorz | sewt | st | L WL ) LNSLT) MR ) DO | DTN |GREL | USEC | WL | ML | LSTL |90
PSRl 1891 et 16571 %691 Tl ozego | sivo ’ ot | ore | omve | vt | omt 9 PITL | O61L | LSI1L | CTIL | RMOL | weol | 6IOL | SREY Onao 5169 ﬂ.o
a9t | oomost | ozewni | oocont | owsvrt | ziewo | ovsso | 1o | s 2oy | sore | sz | stoz [ ovr | s €8y | WOV | DRV | TUY | ICLY | 00T | VY | ST9Y | 1659 | U6V | VO
0981 | ezl | oortt | cesve | gotwo | w0 | wzezo | %oro 4 vooy | Lert | suT | 0T | Ees | v LIS | oy | En9' | 90V9 | B9 | 1ECO | (629 | sc29 | L1T9° | 619 | €0
s87 | ower | ovaves | o | misco | ssizo | eviro | woo| ¢ s | iy | awe | esez | ot |« ool [Reo il Bl Bocsdll Hoo H Bl Borcll Bciniill Bore il Bonc ll B3
96501 | corre | cuece | wiess | storo | sosoo | tozoo | ooo | ¢ sz66 | s969 | tocy | ozez | ose1 | ¢ ol [ional iRl [l Roor Bl Sl Hoios Il il Bonull R
st | eve99 | sczos | wiewe | etooo | eocoo | too00 | sa | wos | mrve | e | vies | sias | 3 eses | s1es | eezs | oezs | s6ts | ois | ozis | osos | oros | oo | 00

S00° | o100 | sz0° | oso' | os6' | sie | o066 | se6 | wup $00°| 107 | st | so| or | 60" [ 80" | L0° | 90" [ SO" [ 0" | €0° | 20" | 10" | 00 | 2

R OO SR R Rk O R e (K vrer® (0D prye (e
4 0
d ey o -




YY axae

730A

(17+¥) 05 = slol acgomxe




